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€. . warm up Practice @

1. State whether each of the following statements is true (T)

or false (F).

@ Ifx—y=4,theny=x+4. (a)
(b) nxm=mn (b)
() 4(x-3)=—4x+12 (o)
(d) 6a and —8a are unlike terms. (d)
(e) The equation 4x = 5x does not have any solutions. (e)

2. Answer the following with algebraic symbols:

(a) Lily has y dollars and John has 10 dollars less than Lily.
How much does John has? (a)

(b) Mary weighs 40 kg and Peter is b kg heavier than Mary.
Write down Peter’s weight. (b)
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@ Test Your Understanding @

| Fundamental Stage

A.

1.

44

Multiple Choice Question

2a +4a + S5a =
A. 9a

B. 1la
C.11d°

D. 404°

Simplify a®+dl
A.0

B. 1

C.d

D.a

(12a) + (2b) x (3¢) =
18a
A. e

How many terms are there in the
polynomial 2x + 3y — 4xy?
Al

B. 2
C. 3
D. 4

Progressive Mathematics 1 (Third Ediition)

6. What is the degree of the polynomial

2t 3% 457
Al

B. 2
C. 3
D. 4

Which of the following polynomials
has constant term equal to 0?
A, (x+2)(x+3)

B. x(x+3)

C. x=Dx+5)

D. X’ +0x+6

Consider the polynomial 2 +4x - 5.
Which of the following is not
correct?

The degree is 3.

The constant term is 5.

The polynomial has 3 terms.
The coefficient of x is 4.

oNwe

Expand (2x — 3y)2.
4x* — 12xy + 9y2
45 — 12xy — 9y2
4x* — 9y2

45 + 9y2

oSnwy




25. Draw the images of the following figures after the

following transformations.

(a) Reduction by % (b) Reduction by one-third
| Advanced Stage |
A. Multiple Choice Question
1. If figure A is enlarged to figure B, 3.
the scalar factor is
B
A . . .
m Which of the following figures can
be the image of the above figure
after a rotation?
A 4 A
B. 2.
1 |
-3
) B.
D. T
2. Which of the following figures must C
have both reflectional symmetry and '
rotational symmetry?
A. Triangle
B. Trapezium
C. Parallelogram D
D. Rectangle ' /22/

Transformation and Symmetry 127



E Open-ended Question @

1. Suggest 2 different pairs of values of a and b AZa
such that AB // CD. A F/ 2 B
b

2. In the figure, AOB, COD and EOF are straight

/P
E
. . .. . D
lines. Write down one more condition in order to
find the values of a and b. p BNOA%0° 5

Wnr=z©)
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Important Term @

adjacent angle (#§£) corresponding angles ([R] v )

alternate angles (A% ff]) interior angles ([ 55 A1 /)

@gl@s atapoint ([f]JEfA) vertically opposite angles (¥fJE )
T B Y ISR SR 0 i PR e e
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Assessment 2 (Revision for Chapters 8 - 13)

Time allowed: 1 hour and 30 minutes
Full marks: 100
Answer ALL questions

Section A: Multiple Choice Question (30 marks)
Each question carries 2 marks.

1. Which of the following angles can 4. Find the area of a square with

form a triangle? perimeter 52 cm.
A. 50°,50°, 90° A. 13 cm?

B. 40°,40°, 110° B. 52 cm?

C. 60°,50°, 60° C. 144 cm?

D. 50°, 80°, 50° D. 169 cm?

2. Which of the following triangles 5. 0045 m’ =

cannot have an obtu.se angle? | A 451
L. Ispsceles trlang‘le B. 451
IIL. ngf.lt—angled.trlangle C. 450 L
ITI. Equilateral triangle D. 4500 L
A. Tonly
B. Il only 6. Which of the following solids do/
C. Iand Il only does not have an uniform cross-
D. II and III only section area?
3. Which of the following pairs of L I ML
angles can form a straight line?
I 60°,30° N
II. 100°, 80°
II. 156°, 34° A. Tonly
A. Tonly B. Il only
B. Il only C. Tand III only
C. Tand III only D. II and III only
D. II and III only

Assessment 2 183
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Polynomia_lé' <

€ warm up Practice ©)

1. @ F ® T 4. (Ba)’+3ax3c
(© F @@ T =94% + 3d*
(e) F ® F =3
2 @ «x (b) 2x'—3x"+4x+5 7. k-2)(x+3) =X +x+6
(© 4 @ -3 x(x+3)=x"+3x
© 5 G- DE+5) = +4x-5

3 5 3 s C+0x+6=x"+6
3. da x3a =@ x3)x(@ xa)

= 124° 2
9. (2x —3y)" = (2x - 3y)(2x - 3y)
= 4x* — 6xy — 6xy + 9y”

4. a2b3 2+a3b2=a4_3b6_2
(@b ) =427 — 120y + 9y

5. =40 20 - 3%+ 4 4 dx 4 Sx— 67 B. Short Question

=2 42+ 9x— 13 10. (a) 3x5°+6 .« 3x5%%(@x5)
— =3%x25+216
6. 7a =£
() 3x4° - 4x3=3x64-4x27
7. 64° +ab — 12b* =84

(©) (—4) +(=2)*x3°=(-64)+ 16 x9
-3

@ 2)"°+2)°*=2)"""
=2

@ Test Your Understanding @ =4

11. (@) axaxaxbxb=adb*

| Fundamental Stage | a
(b) 2a><a><4a><a=£t

A. Multiple Choice Question 4
(© (O)x(-o)x(=0)x(-c)=c"
1. B 2. B 3. D 4. B 5. C =

6. D 7. B 8. B 9. A

8. =2¢° — 3+ 6% +dx—9x + 12
=2 43 —5x+ 12

12. (a) %ableaz

VY

%xlzjxaxaxb

Solution: R
3. 12a=+2bx3c =4a’b

12a (b) 18ab+3bxa

=—x3c
18ab
= X a

_ 18ac 3b

_b_ =b6axa

Polynomials 15
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